OSmK--- S HEHERSHS g
1T, BAREESHRRE

Asspcs (6)
—. RAHL (6845, HAMGE1, 195

1. 029 HA( )N 0.01; 1.2 WbEuafigC ), EFC N

EAE AT CRA
2. =M EN. M. B T AL B R Ak, H
fib 2L AR 0, IXAEUE( ), BEAR( )o

3. 98056 T ARFIERI 1000 (5 ) I )érﬁd@raa%% 78,

4 . Eoiiﬁicc>”“<”ﬁ“ — .

8.9 9.1 0601 0.59
0.5 070 350 gOO.35 ke

 FERE T B RS SR

30 cm=( m

()}

0.75 kg=( )g
3 PT5K 40 P oK =( RRVRS
2.075 10K =( JZS

6. [T B/ NECAERR P A AR SRR T 2

<6.3< 10.74>

>7.6> <47.68
= BeHE. GhpmEeN, BERE ) (B2 4, 356 4))
1. 20.20 SEAE =+ mi =1 C )
2. m/NI—A/NEGE 0.1 C )

3. 9.01 HimA 11001, ( )

SRS s, T8 B, BRI
3 IS TH, DUREESHEAR




OSmK--- S HEHERSHS g
1T, BAREESHRRE

=, Bk, (BIERERN)F SIHEAR T B)EE 3 75, 39 9))
1. 8m?5 dm? s&( )mZ,
A. 85 B. 8.05 C. 8.005
2. M EAEE MR, BRI ).
A. FEECK B. [LREN
C. FIFEHAASE
3. FAIS/ANER, BRECOVTTRNAEBRRZC ).

A. 4.860 B. 0.006 C. 6.08
0. S gk (B8 7, 3K 16 77)
1. H—5,
S — —
036 |* 1000 + 100
25 + 100 x 10
0.08 |X 10 + 100
20 + 1000 % 100
-~/ — —

2. 1O B beoralos, (B4 S B EIE SR
108 =008
2395 )=3900
30170 =170
@16 y=0.001

v RETRER MR, (3L 34 77)
L RN RN (57)

SROS e, 05, B, ERTET
% IS TH, HEREESHEAE




OSRG-S FBHERSHES i
1T, BAREESHRRE

08 0.47
2. H—H. (BZF 19, H95)
(Nl FE T 2] R eS|
/N
B b H oL
7.098
23.457
8.989

3. TR ESENS. (B2, L8

e Bk i
0. 38 ‘f .\.31 1 ’L\l] 3180
( ) £
29,5 DFIEAN oo
{ )

P 3 I ke i
0. 0008 L FUEREY )
100 1
W N N |
{ )

25.07 2. 507

4. FECORTEABEE T (934, 5124
(1)2.57@22.57( )

(2)30.8@5:30.8( )

(3)99.099:100( )

(4)1.8@6:1.85( )
I8~ EHEAENE, R, (8-+8=16 47)

1.
SRt s, Fih, B, SR NEETED

RE
i

oy ST, ANEESHEAE



OSRG-S FBHERSHES i
ST, AEREESRERR

A%ﬁﬂﬁ@%ﬁ}

e DAk 4 ik 131 ke

&ﬁﬁ%%é%m@}h

YTy eS g )
P as

%

O Y
|5
7

2. 1 kg H/KATHAER 0.03 kg, MXFETTFER, 100 kg /K AT &5 2 /b1

m? 1tWe?

BER

—+ 1. 29 0.1 12

2. 909.099 MLAZFNLEENLIL

VS s, b, EE, IR TR
ST, BAREESHESE



OSmK--- S HEHERSHS g
1T, BAREESHRRE

3. 560 78
4, < > = =
5. 03 750 3.4 207500000
6. 6 7 11 10 8 7 47 48
—.1loox 2.4 3. 0x
=.1.B 2.C 3. A
JU. 1. 360 3.6 0.025 025 0.8
0.008 0.02 2
2. ()= 10
(2)x 1000
(3)x 1000

(4)= 10000

0.8 0.47
2.7 7.1 7.10 23 235 2346 9

9.0 8.99

3. 1000 1 0.08 1
100 10

4. (1)1~4

4 — I
SEea 1%, T, BR, RBIR T

SR IO, ETNEESREAE



OS8R RN FENERSES o
IO TH, AREESRRER

(2)0~4
(3)5~9

(4)4

>k
7/
[E—

. 13.1-100x10=1.31(kg)

Zr: WK ORZ B IR 1.31 kg
2. 0.03x100=3(kg)
1t=1000kg 0.03x1000=30(kg)
2. 100 kg HEKATHGEE 3 kg, 1t /K AT LR 30 kg
[RIRISRRE H , el o0y B 2 15— 3. 100 kg 37K 2 1kg
%] 100 1%, AB-4 100 kg #57K AT AR 5102 1 kg W 7K AT fG 25 1)

100 %,

A E]
SRS hE, b, ER, SR

"

ShaRe ST, EONEESMEAR



